Thoughts on Impact

* Impact (Q, A)=ImportanceOfProblem(Q)*QualityofSolution(A)
— QualityOfAnswer(A): [0,100/100], thus
— Impact(Q,A) <=ImportanceOfProblem(Q)
* Interactive impact:
— Make Impact(P1, ...,Pk) >=Impact(P1)+...+Impact(Pk)
— This is possible if P1, ...,Pk form a coherent story (together they enable something
bigger)
* Suggestions:
— Think big = maximize ImportanceOfProblem
— Solve synergistic problems =2 maximize interactive impact
— Strive for BEST solution =»maximize QualityofSolution
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